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CALCS He(Kappa‘s‘) CALCS He(Kappapu) CALCS Kappac CALCS 1CC
1000 1000 1500 2000
800 800
1500
1000
600 600
1000
400 400
500
500
200 200
0 0 0 0
1.246  1.247 1.248 1.249 1.25 0.882 0.8825 0.883 0.8835 0.884 0.97 0.975 0.98 0.985 345
DCs F{e(kappam) DCS Re(kappa, u) DCS kappac DCS 1cc
1000 1000 P 2000 2000
351.895790
800 800 0898
1500 1500
600 600
1000 1000
400 400
500 500
200 200

0 0 0 0
0.994 0.9945 0.995 0.9955 0.996 0.993 0.9935 0.994 0.9945 0.995 1.03 1.035 1.04 1.045 348
DCS-NOGATE He(Kappqs‘) DCS-NOGATE Re(kappa, u) DCS-NOGATE KappaC DCS-NOGATE 1CC

1000 1000 L 2000 2000

800 800
1500 1500

600 600
1000 1000

400 400
500 500

200 200

0
0.994 09945 0.995 0.9955 0.996

0
0.993 0.9935 0.994 0.9945 0.995

0
1.03

1.035

1.04 1.045

0
348




